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ECONOMICS

Full Marks : 80 _
(Part-A = 40 + Part-B =40)

' Pass Marks': 24
Time : Three hours
The figures in the margin indicate full marks

for the questions.

i PART-A (F -9%)
For New Course

Q. No. 1 carries 1 mark each (any four)............ 1x4 =
Q. No. 2 carries 2 marks each (any five) ........... 2x5 =10
Q. No. 8 carries 3 marks each (any two) ........... 3x2 =
O. No. 4 carries 6 marks each (any twoj ........... 6x2 =12
Q. No. 5 carries 8 marks each (any one) <s5uss Heaes 8x1 =
Total =40

PART-B (¥ - =1g)
For New Course :

Q. No. 6 carries 1 mark each (any four) ............ 1x4 =
Q. No. 7 carries 2 marks each (any five) o 2X5=10
Q. No. 8 carries 3 marks each (any twoj ........... 3x2 =
Q. No. 9 carries 6 marks each (any twoj ........... 6x2 =12
O. No. 10 carries 8 marks each (any one)......... 8xl= 8
: - Total =40
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PART-A [ F-9% [ -9 [ Sh-S&RT
(Introductory Macroeconomics |
(e e wﬁw-)

( FTIfEat aefeEy wﬁm )

‘( gy -ty ﬁqmaﬁr )

1. Give short answers to any four of the following questions -

1x4=4

wes [zl bifE6) 2 5 Oeq fr
oA TR S5 e <R B o ¢
vt T A S S fe 4
) Who is known as the father of Macroeconomicg »
WWW%T%WWW?
W@mﬁmﬁwmaﬁ@ﬁ%?
9é/EcoN (2]

3
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(ii) | What are the two sectors studied in ‘two-sector economy’ ?
‘FaeRE SILNfes SIgawe @in -gﬁrmﬁm W 9 27 ?
e R wemifes SaE (PR 775 W0eT R S o 2a 2
' W) AT e e TR SR SR SR
S ? |

(iii) Write the full form of FRBM Act, 2003.
FRBM i3, 2000 F 379} Fot o7t |

'FRBM SI3H, 200068 75 Tl 10|
| FRBM TR, 2003 T 211 #ega for |

(iv) “Voluntary unemployment can exist in an economy with
full employment equilibrium.” Write whether this statement
is correct or incorrect.

“sief fRgfE I TRZIS AP TS aﬂr?ﬁm_ﬁaﬂ QR AN 1
Sf&m! 9% AT el |

“qcfﬁqf—d—ﬁﬂmwwaqﬁwﬁ%(@w © @R AT
S{ca |7 B G wa 9 ISR (E10a |

“a@fmﬂ%mm@m@ﬁ@ﬁaﬁmﬁaﬂawﬁ@rw
<i 1 o g1 R R R fer

[3] : Contd.



(v) In which year the Breeton Woods’ Conference of the United

Nations was held ?

TS o BT, SR AR 5 m:_@m o

AT ﬁﬁa@wwfma% e e s

B g e i
{vi)' When ’Fhe level of effective demand is attained ?

Fi&w bifzvi 1 (Ffoat efte 530
A SIfVE B3 T4 SIRrs 23 2
‘(vii) NNPp- = NNPyp —

(Fill in the blank)

Gl TS NNP = I&14 7% NNP — |

TN ¢ NNP = JISE Wd NNP —
v " (T s

fegeng aTmeme NNP = SISR 9998 NNp _-
‘ S |

(TR ST s e

96 /| ECON [4]

3 ¢

2. Answer any five of the following questions : 2x5=10
Sod fRizla) #if5h! e es frdl 5
RS (T #iielh dreR Tea v ¢
(i) Write two differences between direct tax‘a_nd indirec_;t tax.
ooy 74 4 AT T fﬁvﬁ%} feral |
oo 9 kﬂ‘ﬁ‘(I‘P{@T‘ﬂ?W 75 AL @l |
(ii) What do you understand by ‘paradox of thrift’ ? |
oo e 3 o 7o
FrogfioR SHeREIR 37 Twire ) @R 2
TR R et w1 g 2

(iii) Write one similarity and one difference between capital goods
and intermediate goods.

: {ﬂ@wwa@ﬁaﬁ G5 Ay SN by witef fora |
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()

(v)

(vi)

Waﬁ’rkﬁ]m‘{ TS G 0 AN G- GG 2L |
wmmw@mﬁmwm TR AR WA ot |

Explain the concept of ex-ante investment and ex-post
1nvestment

sfeifite RFGIR Wi 21 REGIe! 4l 7573w v
a@ﬁ@ﬁﬁmﬁ G (1T RIS et 776 i e |

m@wmm@@mﬂ@wmﬁxﬁrﬁ@w
feri

‘What are sources of supply of foreign currency in an
economy ?

G @2Te [P @R @seT SpTE & & e
G5 ST RO @ (wielieR Sz S 2
JEif-er ArEEE e SRR e SeEE e a2

Differentiate between revenue expenditure and capital
expenditure.

IeZ A W JeTA] I A AL (74 |
e 5 <R YETL] TR T AL (TS |

3T AT TR BT W S wr fefey

96 / ECON : - [6]

- (vii) What do you understand by devaluation of domestic
currency ? Write with an example. |

WWWW%@" CuIRIPTR 72l |
Wwwwaﬁ AT 2 SRR GTCA
TR TR ST THERE gese w1 gfer ? fafaferst fo
R Aﬁswer any two of the followipg- questioﬁé : , ' 3x2=6

e W e B

M5 @I 715 els Tea e ¢

TRl SrERIEr i Gt A

i) In an economy margih'al propensity to save is 0.5. What
will be the increase in income if there is a new investment
of Rs. 600 crores ?

i e 2l AT 269l T20= 0.5 | 96 CFae 600 @sﬁ‘w
o R weFifes Fe ﬁmwwwﬁﬁﬁﬁ?

T IR 2 e 29TSl 7 0.5 | G (L 600 (RIS B -
g Al ELTISTS T AR gl SC 378 S0 2

ey AR S oAl TR ST ST 0.5 1S s 600 hife iy
e T e St feraif e T WS 2




(@)

What is fiscal policy ? Write its two objectives ? 1+2=3

- e S e T 6 Sow e

(iii)

(iv)

AT TS F1 2 G 775 BTl (=R |
naﬁﬁaﬁa’fwm?‘érﬁﬁlﬁaﬁgﬁn , 5

How financial deficits can be 'féduced ? Explain briefly.
e QS e 18 TR #A1R 2 bILT 7 74|

I G5 FIOIE 7 I (@S A 2 FALCHCA 10 el |

_ﬁ—mﬁaﬂ@a@mﬁ{ﬁm@mﬁm?ﬁa'ﬁé@m

In the context of national income accounting, analyse the
concept of planned and unplanned change in inventories
with a hypothetical example.

@@Wﬁwwaﬁmmﬁﬁﬁaﬁ@wwﬁa@@ﬂﬁm
el SiEfEe Tzaet B FREe Jeris, o1 |

w@?maﬁmwﬁ@mﬁ%%@mw%aﬁ@m
Qiaell @b PP SHRICR AR IR (=T |

‘SR mwﬁ@wﬁ@wwamﬁémﬁﬁafﬁgmﬁwﬁgﬁ

e AR W i faffe SR e e

96 / ECON 7 (8]

4. Answer any two of the following questions : % 6X2=12
NGF @I o AT TSR WIS 8

(i) Whatis bélance of payment ? Explain its components.
' 1+5=6

ﬁﬁnwmavﬁmnﬁﬁ?amaﬁ%ﬁmﬁﬂqiﬁﬁﬁﬂ?ﬁ“
SARCAICEE STl 12 8 AT T TG |

e LT T 2 S SR s |

Explain the pqucess of credit creation by commercial banks.

(i)
5+1=6

What is money multiplier ?

W@%mmﬁ@w@maﬂﬂnme@wm_
aﬁaﬁﬂﬁa}m%ﬁamwﬁmqm@a?
mﬁmﬁﬁ@‘ﬁmﬁﬂ@ﬂﬁﬂﬁmﬁmaa@a:ﬁgqamm§-
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(iii) What is aggregate demand ? Write about it; corﬁponents.
. 1+5=6
SRR b1 6 2 TR SoAmITRs R o
ﬂm@as’m&m é?t? G| @Wﬂmﬁm Gl
TR e 1 2 A SR R e

(iv) Is GDP an indicator of Welfére of a natio

n ? Justi
answer. | ustify your

GDPW&WWWWW?WW. ‘ :
: T R Se feret wisipr |
GDP%&@WW%%W@?WWWWI

. GDP mmﬁtﬁﬁﬁﬁsﬁwﬁﬁmmﬁmﬁm R

5. ~Answer any one of the following questié |
. ¥ ns :

e ReIeAT 1 e T i Rt
TR - G 208 T e <
"Eﬁﬁ{aﬂm@mﬂ””h@”ﬁﬂmﬁﬁmﬁméﬁ
i V\;hz’lc AL addition ? Fxplajy, the
Shics r:l:izgg natienalincome, yy;, ajlalllrfl;idtded methodf
| I'tant merit o
1+6+1=8

96 / ECON (10] i o
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T A 2 SIS S S9N o ALCIG A% It 70 | @]

ATog @Bl & Rl ol

S SRS 7 SISV SR IR T A AR DI} Pl | 92

oAeR b UL ARl el |

Wmm?wmmwwm

geEferEl 384 | ¥ sTest Hrd TR Eg faw

Write about the quantita.tivé and qualitative measures used

by the central bank to regulate money supply in an economy.

@R AT SLITe @iT mﬁmﬁwmww S{RTIRIB
i @IS SREPTRS Rae & |

o A (oA e R Gy (e R 01 AR <R SR
R ST offaieFTICed R Tl |
e T TR e Y ST el SIrer e foieeit
ST TSR ST AR T fer

[11] ' Contd.




(iij) Explain the working of invéstment multiplier wi PART-B / -9 / <=3l / @-Ser
plier with example.

‘What is backward working of investment multiplier ? !
‘ (Indian Economic Development )

7+i=8

( ©IFeF SLCAOF G )
ﬁﬁt’ﬂﬁ ummﬁ%m@mwamwﬁﬁmwwwmﬁ e ,
r[:_z” ﬁ 0 {\9]‘3 [ACE| @QEW'@ES @E‘W a )
( RSN TET=eT T )‘
ﬁﬁmﬂ \J‘W Wﬁ wwaﬂqﬂ <l lﬁﬁ'cﬂ]‘q’ qu 9P55m§:1 2 ;
Gk ' | 6. Give short answer to any four of the following questions :
' 1x4=4
@WWWW&@@E@W
co I@W‘Jﬂmﬁ 5 ’
5ifa5T e 53 O fral 8
ITHRETSTR STreEa o7 ? weld P SRR
S\tsa (- Bl R R T e ¢
(i) What is ‘marketable éurplus’ in the context of agricultural
' production ? :
sz%@&?ﬁm was Rty Tge 52
@ﬁ@@&v{m g Rty Uge’ 17
3T fé;g:ﬁ[ﬂﬁ éﬁﬂ?ﬂa TAATAE Sl 91 Hl 2
96 / ECON 112) ' o 1 BesA 13] Contd.



(@)

(iii)

(iv)

QU (O TN & Carm gy
TN == | Aers / (e
' (%% w3y fosr 1)
96 / ECON - 1147 ,

Write the full form of NCERT. -

NCERT 3 37=7)¢f st ferall |
NCERT-48 i %7l G4l |
NCERT-1 11 7ewgl fe |

Which Indian company bought the Eﬁgiish tea company
‘Tetley’ in 2000 ?

(IO OISR ™I 2000 b Fermes R (I “Tetley
(55 T R '

(Il O \'J T ™A 2000 W‘:ﬁmﬁﬁ s Seile ( .
T A2 ' ' Y
q@wwﬁml:ﬁmmoomqmwmﬁm ‘
(e i 2 TR e
The owner of a saloon is g regular salari _
casual wage labourer, g S‘elf‘’?'Illployed/

Ak
(Choose the correct option)

()

GFE mqmwf\wﬁ RGORCEIBIG] @Waﬁ/%ﬁmﬁn—@/tﬁﬁm

CEITR & | (wm Rl (@ 1S)

n@m@——rﬁﬁ?ﬂwa@é‘mw oI/ TR fereeTar /st ' i
m, | (el G FIE )

What is India’s ranking in terms of Human Devlelopment

Index, 2023-24 ? -
0023-24 © NHE T oS (FA© SO Zi Bl 2
2023-2@ TR T O O 00 e 92
2023-24 awfaggvﬁmmtﬁrﬁﬁaama IS ST i 2

Agricuiture/lndustry/Services sector is the largest

]

(vi)
' contributor to the National Income of India at present.
(Choose the correct Optio'n}
< TS RO TS W P/ rwiel/ Gl 162 TS el
calang | (&% [R5 9619 3971)
a@’ﬁﬂ A Wmﬂw Wi R/ M/ ol e Wik s
FECE | (5% 8% [z a1s)
[as] : Contd.
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ST T A TSR e St/ i /fafaem e

g Wfes BEERE (4 ST T )
7. Answer any five of the following quesﬁons : 2x5=10
@ﬁ%ﬁhﬁﬁﬂﬁ%ﬁﬁﬁ%@@ﬁﬁmz
R TN “ols AER TeF 7l ¢
TRE FERITTEr @ET g )

(i) Write two causes of slow economjc gfthh and
re- emergence

of poverty in Pakistan,
Wwwﬁﬁeﬁmwﬁm%@% U
‘ _ _ . <1

wﬁr@mwwﬁ:{%ﬁm\m%g@

ST 75 e el |

96 / ECON ' [16]
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(ii) Classify the following into renewable and non-renewable

resources :

o1 THAIRIRRS 71 PRI SIS S el STe{7e (TR e 4 2

ARG SR TN O3] SRIRFCITAI] =407 (e e @ ¢ .

BEE SRERRE! PRSI SR R ST FrIETe 2RE SEri

©el™

(a) Tree

[ 1] 3 Contd.




(c) Iron ore . 3 :
; (iv) What do you understand by outsourcing ? Write with an
GIERIE] example.
=TI iR BB 2% T 6 3@ 2 Triggepig 11 |
R FE AfRrSe oigel FHACS N (@A 2 SHZHPAE el
() NSealtish oy ' s e gEe g ? e
AT I | | | - A | _
A ‘ (v) What are the types of economic system ? Which economic
ot 1 ( "_l‘fﬁﬁ'_ﬁ? S : system did India adopt after indepgndence ? 1+_1 =7
SAelrenft el I eI (20! 6 7 2 R ol fPiee ©iste (iG] sl

4%l oge IRMRE?

(i) Write two benefits of formal sectq,
0 Cmployment

- I HeT Rl 70 sifRa vy o T AT FIATO #/(7 OF® i TS

2l oz SR ?
Wﬁﬁmﬁﬁﬂﬁ?ﬁ ﬁqﬁmmml g : [ :
TR e e TR T 6 ? SR S WRaet ue Gat-o
R AR feraaf | ' -
S W ooy (Tm) o ) Fiferd SSTeA 2
96 / ECON | [18] | e B 96 / ECON [19] ' Contd.
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(vi) Write twe im; ; -
important achievements of India’s education 8. AnSKe e 0 R o e - 3x2=6

sector. ‘ ‘ . : :

ISIEI05 ' ¥ :
. SR i @@@mﬂ?W%m oa - G5 ATHT T/ WS ¢

@mﬁﬁmﬁt@ﬁgﬁ@@wﬁjwmm Wﬁmm‘awu?ﬁ EIEIRIEAREEIREIE

(i) When did the Central Pollution Control Board of India was

established ? Write two functions of this board,‘ 14:9=3

ﬁmﬁﬁﬁ%ﬁ@ﬁﬁwwﬁm%,
_ form)

(vii) What are the aspects inclygeq |
. Fa ed j_n ¢ . - )
agricultyra] marketing’ e Ty e e AARm con s1o7 91 (2feT 7 93 oAf9ans

process ? : ‘ el
| ‘ 7 <o) el |

3% Rl eférare - ¢ coea et R A T A Sion s
. mﬁ%%ﬁ"i%@? O RIOR[& 77 el ARl AE R 9o Fal 7l 2 @2 SANOE 476

. : ) e Tl |
P RA &ARERITS B ) e
o ) | v i TS ST ST STl SISl e ST 2 ) S
' ST e ‘
€10 it &mmmﬁqw T e T
ST 2
96 / ECON i
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(i) Match the left and right hand side of the following table :

O SR AN S G4 e ¢

o= OifereIa A @R TR e @

e e e AT R A e g

1.  Prime Minister A

GRIoPi
coaral

TR A%

2. Gross Domestic Prodyct B

T (7T Sl
(6 CreTRT B

W9 T fogar

96 / ECON 22

~ Seeds that give large proportion of

outputs

O 5 St o o v

S ST Bt s o S

Quantity of 80ods that can be
IMporteq ‘

Wﬁmwmﬁamq

Ty

3.

4.

96 / ECON

Quota

Land reform measures

i A T
o iR I

21 9eE Tl

ey

[23]

Chairperson of the Planning

Commission
S| AR T
AR ST T

foefe T egRR

The money value of all the final

goods and services produced

within the economy in one year

43 GRS b e Tegw Tesiifite
R S IR0 AN W G
prap i

&3 TLIRE G S 9 esiifre

e T I AN GRS (R

T D

T e A o R fegAere
TR S ARG S A e

* it | )

Contd.




5. HYV seeds

Tt TSy 916

T ST 41G

el A i

6. * Subsidy
BRI
o

" 96 / ECON

\

5,

[24] |

Improvements in the field of

agriculture to increase its

productivity

G 01T R e e
B '

The fonetary assistance given by *

government foy. Production

activitieg -

(iii)

(i)

Who is a worker ? Are the following workers — a beggar, a

thief, a smuggler and a ganibler ? Why ? 1+2=3

ﬁﬁ%ﬂﬁﬁ@ﬂﬁ?ﬁﬁﬁ%Aﬁﬁ,@ﬁﬁ?ﬁﬁﬁlq@%——dﬁﬁﬁﬁaﬁﬁ

el 2 il we |

WWW?W (514, CEIRRPI=IS, SIS — <=1 s ifee 2 piet
@Ae | | |

xCieslIE! e A 91 ? Fersre, Feram, Farard et e, e
Sy At A 2 S fS '

. the ‘great leap forward campaign’ of China as
Explain L)

initiated in 1958.

8Em§§m@5mq¢@Vﬂqﬁﬁwﬁﬁ@Wﬁ@ﬁ?mfﬁﬁﬁzmﬁﬁﬁat
195 _

T J2R A9 SIS FREFCA GIR!
W@j‘iﬁww
1958 I

el

| EIEIC| W ‘oreat leap forward STER@EHR’
1958 AT _

=y |
Y [25] Contd.
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9. Answer any two of the following questions :

T Al BT e e fra 8

%m—mﬁm%mg

e STERasTEr A7+ SHmt frrg 2 -

t A an { c p b India Cl ] i

i)

gé/EC

ON

Pakistan.
W’%WW@W@W”R@W%@EW% |
A 1 Sf
OIS, BT 9% AR L St st '
' WS |

W,%ﬁq,mmmﬁﬁ@ﬁqwmﬁ . _
- T o fo

6x2=12

(iii)

TR T g9 (STeF ELER 410 AL CSTCAN | ST S[ET4 SO0

@ewwmml

e | |

. . ortance of credit for rural development.
Discuss .the 1mPpo. :

three differences between formal and informal sources
Write ; it

: 3+3=6
Of rural Credlt' y

SITEDH <5 | S <Ol S S
G\ CUACEERE

Wﬁﬁﬁ@@eﬂﬁﬁﬁﬁ"nwml

St SCEAG S | &N AT SIS
| o A0 ST et

[27] Contd.




(iv) Wr‘ite short notes on any two of the foliowing ; 3a=g @ e . 5
griculture sector of Ind1a_at the time of
T R 51 R B, (ol vl 2 independerce |
éﬁﬁacﬂwamﬁﬁzﬁ?ﬁhiaﬂ@%@fﬁmammTz :maﬂgﬁymwggﬁﬁﬁiﬁiQ@awﬂg.
e AR AT A e e | ﬁwm@wwﬁmw
" (a) Import substitution trade policy i W‘ R
eI 2fesm ey e | | iO. Aﬁswer ang; one of the following questions : 8x1=8
Wmﬁmﬁw% e fageaTcA Bt e B f ¢
WWWW Ao b | m.@_mmaﬁm@@w:

(b) Role of small-scale industry in Indian
: econom
Y

(i) What is organic farming ? How does it help in sustainable

development 2 Write three merits and fwo limitations of
oo @Iﬂﬁ!i\s‘m Bkl RleE @ﬁ?ﬁ | organic farming- ' 1+2+5=8
ﬁﬁﬁgﬁawwezﬁﬁWWﬁwwﬁmn
ke qﬁi o9 19
[28] _ '
| . [ 22 ‘ Contd.
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(1)

‘cmﬁwaﬁmmﬁw
. . I”.

RS PR omie F2 @B w6 @ S Seim warg w2

t@fﬁawwwwmaﬁmﬁw

AT SIS AEATE -2 A 2 & Wi a9 g e %
T @ ? iR STEIG WIS G AR st sy mhegs
femmirE! for |

“The threat to India’s environment Poses g dj
a dichotomy.”
y'

Based on this statement, write an ap T _
' cal note on th
e

current environmental situation ang s
€ms in Indi
ia.

What -are the factors responsible for land g
_ €gradation in

_Il‘ldia 7
6+2:.—_8

& &

el | SIS BRE SR 10T Goifmy -

RS SO TR A gy PRI @ B

A o
AT DI O | OIS SR S g TR R wefy

w2 | i (I lretey ey

S AR 2 R e e o,

' 06 / ECON [30]

(itt)

ST BT ST ) G el S 3 5o frerare ‘
WWWIWWE%W’W IRET QRRTHI SRRl
HH? ' ;

Briefly write about — (a) industrial sector reforfn (b) ﬁnanciai _

sector reform and (c) tax reform measures undertaken as

part of liberalization policy of economic reforms, 1991.
3+3+2=8

5 1991 57 SR IR TWf0 TR TSI WA ieed

A IO
ol 91 — () ST ST IR (b) RER e F<HT AT (c) T
ﬂwﬁmsﬁﬁﬁﬂwl ’

e 1901 TR S TR wreafo T fox e
e T — (o) ST X0 ﬂ@a () ST e FH @K (o)
@%ﬁ%ﬁ%ﬂiﬁ%ﬁﬁ@u el
e 1001 T e ST R Seftfer STl ey
mﬁ@@ﬂa}mﬁmﬁ@ﬁﬁmm@@@w@ .
@@m@ﬁiﬂﬂﬁﬁﬁﬁﬁﬁ@@m |

X

e

(311
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